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What is 12 + 8?1.
A) 18
B) 19
C) 20
D) 21
E) 22
If you have 15 candies and you give away 6, how many candies do you
have left?

2.

A) 7
B) 8
C) 9
D) 10
E) 11
What number comes next in the pattern: 3, 6, 9, 12, ...?3.
A) 13
B) 14
C) 15
D) 16
E) 18
How many legs do three cats have in total?4.
A) 8
B) 10
C) 12
D) 14
E) 16
Which shape has 5 sides?5.
A) Triangle
B) Square
C) Pentagon
D) Hexagon
E) Octagon
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6. If you have 4 boxes, each containing 3 toys, how many toys are there in
total?

A) 7
B) 8
C) 10
D) 12
E) 14

7. What is 20 - 5?
A) 10
B) 12
C) 15
D) 18
E) 20

8. How many fingers are on two hands?
A) 8
B) 9
C) 10
D) 12
E) 15

9. What is the next number in the sequence: 10, 20, 30, 40, ...?
A) 45
B) 50
C) 55
D) 60
E) 70

10. If you have 5 red balloons and 4 blue balloons, how many balloons do
you have in total?

A) 7
B) 8
C) 9
D) 10
E) 11



POWERED BY PROFVEDPOWERED BY PROFVED
GRADE 3 WORK SHEETSGRADE 3 WORK SHEETS

WWW.PR
OF

VED
.CO

M

WWW.PROFVED.COM 3

11. What is 3 × 4?
A) 7
B) 8
C) 10
D) 12
E) 14

12. Which number is larger, 25 or 32?
A) 25
B) 32
C) Both are the same
D) Neither
E) Cannot tell

13. How many months are in a year?
A) 10
B) 11
C) 12
D) 13
E) 14

14. If you have 10 stickers and your friend gives you 5 more, how many
stickers do you have now?

A) 13
B) 14
C) 15
D) 16
E) 17

15. What shape is a soccer ball?
A) Cube
B) Sphere
C) Cylinder
D) Cone
E) Pyramid
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Answers and Explanation
Answer: 20, Explanation: To find the sum, add 12 and 8 together: 12 + 8
= 20.

1.

Answer: 9, Explanation: Start with 15 candies and subtract the 6 you
give away: 15 - 6 = 9.

2.

Answer: 15, Explanation: The pattern increases by 3 each time. Starting
from 12, add 3: 12 + 3 = 15.

3.

Answer: 12, Explanation: Each cat has 4 legs. For three cats, multiply 4
by 3: 4 × 3 = 12.

4.

Answer: Pentagon, Explanation: A pentagon is a shape with exactly 5
sides.

5.

Answer: 12, Explanation: Multiply the number of boxes (4) by the
number of toys per box (3): 4 × 3 = 12.

6.

Answer: 15, Explanation: Subtract 5 from 20: 20 - 5 = 15.7.
Answer: 10, Explanation: Each hand has 5 fingers. For two hands, add 5
+ 5: 5 + 5 = 10.

8.

Answer: 50, Explanation: The sequence increases by 10 each time.
From 40, add 10: 40 + 10 = 50.

9.

Answer: 9, Explanation: Add the number of red balloons (5) and blue
balloons (4): 5 + 4 = 9.

10.

Answer: 12; Explanation: Multiply 3 by 4: 3 × 4 = 12.11.
Answer: 32, Explanation: Compare the two numbers: 25 is less than 32,
so 32 is larger.

12.

Answer: 12, Explanation: A year has exactly 12 months.13.
Answer: 15, Explanation: Add the additional 5 stickers to your original
10: 10 + 5 = 15.

14.

Answer: Sphere,Explanation: A soccer ball is a round, three-dimensional
object, which is called a sphere.

15.
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